;iﬁxs aK..‘Z.iLoJT
s Les|
LSJ‘}'EA \.éJM

rj J&asls @l r}l; 2uSizils S 09,

VFoo e




s Lz

J‘:".:’ Lj})xb\.&;ﬁ 41:.-0}3 45&.»‘&:@.;&”)‘4.&»)3 ‘.L.?O:.:.&:d‘x DALA‘;‘:}) u\h})w‘
;ﬁgnmbm ols Lg\.n:l.b}ja.\.i Lgxfaj‘x\d,\:.os

5))’“““6)5”5""""@“333".’!.03L“d):fﬁ"\""@}ﬁwd‘ﬁdg‘&J#QL}:ﬁJCﬁ‘

-b:fsw‘ﬁfve
o :;3‘\;9 sl 0z 5 0y Ox 5 oui Lg;::j‘dé‘g;.:.ofux:u.n Z9Y X 6'\.1"‘509){
sl

r+oxr, yxdy, z=x0z

S5d oo IS

YE/Y Ve g



s Lz

J‘:".:’ Lj})xb\.&;ﬁ 41:.-0}3 45&.»‘&:@.;&”)‘4.&»)3 ‘.L.?O:.:.&:d‘x DALA‘;‘:}) u\h})w‘
;ﬁgnmbm ols Lg\.n:l.b}ja.\.i Lgxfaj‘x\d,\:.os

ool (Son c W(,Y, 2) a2l oad (558 050 slgmeS ol 5 ens 3l b S w S
Jeedlois aenlne b 0w e (sl Lyt el 5o sl 6w of slas 5 w salons 4 510

‘r:;Su» &)JJ: dw
w=w(z,y,z) = dw= g—:dm + Z—Z)dy + g—fdz
S
dw — dw
3
dx — dx, dy — dy, dz— iz
ol

ow = 8—w(5$ + a—w5y + 8—w5z
ox Y z

0 0

YE/Y Ve g



s Lz

J‘:".:’ Lj})xb\.&;ﬁ 41:.-0}3 45&.»‘&:@.;&”)‘4.&»)3 ‘.L.?O:.:.&:d‘x DALA‘;‘:}) u\h})w‘
;ﬁgnmbm ols Lg\.n:l.b}ja.\.i Lgxfaj‘x\d,\:.os
6@‘)&
ow ow ow
ow = %(%-I- a—y5y+ 557;
olas bl g ks sl slas sl 62 5 6y « 0z swods sbala> S S o S
Q“‘QMJA&MCJA@) 5w4§.u»>go

ow 2 ow 2 ow _ \*
o= (Gar) "+ (o) + (G2

el N (g e dye YL sl

YY/ ¢ Voo 4



G 5 ez slaSisll gl s ezl

!. J‘“"“LS‘J'.’UNL“"‘J)’OJA
ow 2 ow 2 ow 2

w=ar+ by +cz

S a8 jo 5

S Ut bl Sl 2 5« 2 5 i b e 5 15 €5 b0 S
Oy 0w (g\l> .\.‘wa 02 5 0y « O sads <>l

dw = +/(adz)? + (bdy)? + (c2)2

Ll Calle 5l JZL..A J\_,.o.h 653.26» asls

YE/O Ve g



YY/5%

G 5 per slaaSeslal gl s Lasl
s Lzl gy bl s

ow 2 ow 2 ow 2

sl
w=ar+ by +cz
Sw = +/(adz)? + (bdy)? + (c2)2
g on asls

Sl oals 0sls 3 vy Quéu&})d}udﬁj\x\é.&.ﬁyﬁ ) Jle
li +0ly =23.5£0.1 cm

log +6lp =178 0.2 cm
I3+ 6l3 = 93.9+ 0.2 cm
gl G 15T gl 3 L= 14 + 20y — I3 &S

Vfoo e



YY/vy

B g @?Lg\@.jxfaj\x\d‘x s Lacsl
s Lassl gl (elal Jse s

8w 2 8’11) 2 8“} 2
Oygar g\b> w = ar + by + cz gl
ow = \/(&5{5)2 + (boy)? + (cdz)?

58 g0 03l
L:l1+2l2—136\x ) Jle

Iy +6l; =23.54+0.1
lo+0ly =178 402 = 0L = +/(11)2 + (20l2)2 + (—6l3)?
I3+ 6l3 = 93.9+0.2

0L = /(0.1)2 + (2 x 0.2)2 + (—0.2)2 = 0.5 cm

L+0L=-348+05cm

Voo 4



G 5 per slaaSeslal gl s Lasl
s Lzl gy bl s

ow . \? ow _ \? ow . \?
Oyar s> w = ax 4+ by + cz ¢l
ow = \/(adz)? + (bdy)? + (cdz)?

gl p asls
T X 5505 E3) C)J}.aa OLCL LSL“‘U-'”J @l.o) 641..&[3 9 6,:;0‘..\.-‘ 4§J:u5uoﬁ Y dt’w

t1 + d0t1 = 0.743 £ 0.0005 s
to + dta = 0.374 £ 0.0005 s

t = 2t + 5t

sl Sy ‘ﬂdU*” 3

YE/A Ve 4



Y¥/4

V¥e

° 4o

G 5 per slaaSeslal gl s Lasl
s Lzl gy bl s

ow 2 ow 2 ow 2

Oy sas w = ax + by + cz g,

Sw = +/(adz)? + (bdy)? + (c2)2

g o0 asls
t =2t + 5to sl ¥ Jbw

= Jt = \/(26t1)2 + (56t,)2
to + 8ty = 0.374 % 0.0005 V(200)° + (30t2)

8t = /(2 x 0.0005)2 + (5 x 0.0005)% = 0.027 s

{tl 4 5ty = 0.743 + 0.0005

t + 0t = 3.406 £ 0.027 s




U Ll gl bl Jsa o

ow 2 ow ow 2
e G ()

w_k:xabc

SasS 5h

l,,a.\.iéxfg\.eldt@::.ofzjy‘xﬁ,\il{g&;@lﬁwq\;.ﬁ\;@c,b‘ack4§
Oy g Ow \la> ..\.2‘.:@ 02 5 0y « O sl «>bs slalks

dw = \/(kawa_lybzc)Q(dw)2 + (kbxoyb=12¢)2(8y)2 + (kextybzc—1)2(5z2)2

.)}..i:do asls

Ve \Feo



U Ll gl bl Jsa o

ow 2 ow ow 2
e G ()

C))}-ﬂ.} 6\2}- w = kxaybzc 6‘ﬁ

ow = \/(k:cw:‘l_lybzc)Q((596)2 + (kbxoyb=120)2(5y)2 + (kextybze—1)2(5z2)2
S e W 2 3 e b Sl e S5 580 030

[ (kaz®! b 26)2(6x)*

w  kxoybze

(kbxa b—1 C) (5y) (k‘C{L‘a b c— 1) (52)2]1/2

YY/\N\ Voo 4



YY/\Y

sw 1

U Ll gl bl Jsa o

ow 2 ow ow 2
e G ()

w = kxybzC s,

" —kxa—yl,zc[(kal‘a 'y’26)? (6x)?

(k:bac“ b—1 C) (531) (kcxa b_c— 1) (52’)2]1/2

T ) ()

Vfoo e



o 5 222 s\g S5l (sl W Ll

Syga > w = kxyP2C s,
2 2 2
M:w%(@) C (1Y ()
T Y z

ol lalls 5ons (o Sslul polia sl by F = Gmyma /12 (2315 55,0 gl 1) b

D9l oo ssls

gl S
my +dmq = 19.7+ 0.2 kg
mo + dme = 9.4+ 0.2 kg
r+ ér = 0.641 £+ 0.009 m
by

G = 6.67 x 10~ Nm? /kg?

YY/\Y Voo 4



o0

o 5 222 s\g S5l (sl W Ll

340 oo osls 3 O e s F = Gmlmg/r2 6‘:.’ ) Jle

2 2 2
=) )+ ()
mi ma T

L.Mj‘_).s Lb}ub‘;djﬁﬂﬁn % o:\)x:lﬁn

1119.7 % 9.7
0.6412

F=6.67x10" =3.0x 107°N

B/

02\2%2 /02)\? 0.009 2
F=30x10"%/(—=-= —= —2x —— ) =1.10x107"?
0F =3.0x10 \/(19.7) +<9.4> +( ><0.641) 0x107"N

s58n BolsS Llg el

F+6F=(3.0+0.1) x 105N

YY/\ ¥ Voo 4



Y¥/\o

ol 9 2 sl Soslwl gl s Las)
"ﬁu“bbxjﬁo}me&“‘ojﬁ}\um\L;uﬁ_,: - S~%Jé\4J\:‘A

sin 6
Ng = My~
g **sin 6

-92i592:36oﬂ:10)01i591 :610ﬂ:20cn\}ﬁ :16
ong 2 ong 2
cos 01 2 sin 64 cos 69 2
(5ng = (nbﬁ,m(gel) + (—TL‘FW{SGQ)

2 2
My _ \/<C9S O 591) + (—Cf)s e 592>
g sin 6 sin 6




ooes

r:-»wjgfé sl Soslwl gl s Las)
‘b}-::'soc bb‘JJ”..j ﬁ))}aﬁ.} L};'“" O}’G}‘ OJ\':L:“‘L.’“*:':‘ - S & %J‘é '\J(_JL:A
n.o—n sin91
97 " gin 6,
02 00y = 36° £ 1° 5 01 £00, = 61°£2° cny,, =18
" sin(61 x 7/180)
sin(36 x 7/180)

2
dng = 1.5 [(Cos(m <T/180) 77/180)

=1.5

ng =

sin(61 x 7/180)

n ( cos(36 x 7/180) 1 71'/180) 2]

1/2

~ sin(36 x 7/180)

dng = 1.5 x 0.0490 = 0.07
ng £ong =1.5£0.1

YENF Voo



YY/\Y

=55 slolles b sle Soslal gl s Lasl
sl s 1y 5 Pk CoeS gl 1) Jka
L=1— 2/l

Y

Iy £6l; =14.7+0.2cm
lo £ 6l =9.76 £ 0.05 cm
l3:|:(5l3 =11+1cm

L=1—2ly/l3=17.4—-2x9.76/11 = 15.6

oL oL oL
or = (o) (2 512) : (%m)
s (=2 \? /2
OL = ([ (611)* + | ==0ly 2513
I3 I3

V¥oo 4



=55 slolles b sle Soslal gl s Lasl
sl s 1y 5 Pk CoeS gl 1) Jka
L=1 -2/l

S

Iy £6l; =174+ 0.2 cm
la £0ly =9.76 £0.05 cm
l3i6l3:11:|:10m

L=1 —2lp/l3 =174 -2 x 9.76/11 = 15.6
2 \* (2’
SL = | (0L)* + ( —dly ) + ( S2dls

-2 2 [2%9.76 2
5L — \/(0.2)2 v (H ~ 0.05) + ( jp x 1) — 0.257

YY/\A Voo 4




Y¥/\4

=55 slolles b sle Soslal gl s Lasl
gl ety [ 5 Jsb oS sl 1\ s

L=1—2ly/l3
S
l1 £0l; =14.7£0.2 cm
lo &6l = 9.76 & 0.05 cm
I3+ dl3=11+1cm
L =156 =15.6
0L = 0.257 =0.3
ol

L+0L=15.6+03m

0L

f X 100.&4)) :2.&&))

V¥oo 4



Y¥/Ye

=55 slolles b sle Soslal gl s Lasl

gl Gt 1y 5 e S Sy 55 la> 2 Jlo

2
/ E()
m 2m

k£ 0k =0.11£0.01 N/m
m % dm = 0.500 £ 0.005 kg
b+ b = 0.062 £ 0.008 kg/s

T = 13.514382940233906 s

or _\*> [or _\*> [oT . \*

ar _ ( —1/2m

Ok k/m — (b/2m)?

) = —62.52143331776081

V¥oo 4




YY/¥\

=55 slolles b sle Soslal gl s Lasl

gl Gt 1y 5 e S Sy 55 la> 2 Jlo

2
/ E()
m 2m

k£ 0k =0.11£0.01 N/m
m % dm = 0.500 £ 0.005 kg
b+ b = 0.062 £ 0.008 kg/s

T = 13.514382940233906 s

or _\*> [or _\*> [oT . \*

or b/ 4m?
Et (k/m ~ (bj2m)?

) = 3.87632886570117

V¥oo 4




YY/YY

=55 slolles b sle Soslal gl s Lasl

gl Gt 1y 5 e S Sy 55 la> 2 Jlo

2
T:27T/ ﬁ—(i>
m 2m

k£ 0k =0.11£0.01 N/m
m % dm = 0.500 £ 0.005 kg
b+ b = 0.062 £ 0.008 kg/s

T = 13.514382940233906 s

or _\*> [or _\*> [oT . \*

or k/2m? — b2 /4m?
om T( kfm = (b)2m)?

V¥oo 4

) = 13.274050550560432




YY/vYy

55 gbbles b sl Sl g1y Was Lal
S S

gl Gt 1y 5 e S Sy 55 la> 2 Jlo

2
T:%/ ﬁ_(i)
m 2m

Y
k+ 6k =0.11 £0.01 N/m
m + édm = 0.500 £+ 0.005 kg
b+ db = 0.062 + 0.008 kg/s
T=13.5 =14s
0T = 0.6 =1s
olele

T+0T =14+ 1s
oT

? X 100 2y = 7M)b

V¥oo 4



&l

< The Art of Experimental Physics, Daryl W. Preston and Eric R.
Dietz, John Wiley and Sons (1991).

< A Student’s Guide to Data and Error Analysis, Herman J. C.
Berendsen, Cambridge University Press (2011).

< Basic Concepts of Data and Error Analysis: With Introductions to
Probability and Statistics and to Computer Methods, Panayiotis
Nicos Kaloyerou, Springer (2018).

YY/Y¥ Voo 4



